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T He Eavths refevence ’B’ame,, ’H\c [A?/Q\'('.&MMJ/
flkes A and B simudaveously. The coovdinodes
of  there everts " aye

A: =0, 1= 5 psec (Ear+h)

B X =50km, 1= 5 P (Earth

_ﬂ\e, Toclket is  unother refevence +rame ,-movfmda,_ 7@—0
A ﬂ?/h’ ot 09 c
Thelr oviging  incide ot +=0
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to those bn the Eawth's Home  (For any evert A/
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Let Hhe 1>T|'W\ecQ coovdinates YL{)MM Yokt Arame
Gnd Fhe Wwn-brimed coovdinatet rehwpwd EavHe fame .
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For event B
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= ABES - 44464 Km
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) ertl*)/ event B occured Livet in Hhe Yocket ‘g\’ame/
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So, the Lfg/liaw& Abikes  the  pole Lovek,
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‘ Ax'= Xy =Xp:z 441-61 — (-309) Km

= 1447 Km
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IS 20,00 m.

\?) Speed OA’ Tocket A, as measured by B iy
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1+ (08)* 1164
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\b) Yocket A has a vest lem oJ, 200 M.
Tn another Imerhal ‘ﬁ’o\me/ Hhat ooL Yo cket 6,00’?»54\.

moves ot a velodity w= 07975 ¢ Hne QMA@%L o)
Yodket A Wowd appesr @4

L= p &

= 44 m
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